
Spare parts list 
 

X  depending of type of motor; Please, contact the manufacturer for product choise under specification of serial number of the motor. 
*)  included in component parts fuse members 
**) At delivery of the motor without connection cable a bag for electrical circuit points is included. 

Vibrating motor A51 / A52 

No. Count Designation Type Standard Order-Number 
1 2 feather key A8x7x12   14.80.044.06281946 
2 2 centrifugal disc inside    X 
3 1 washer 1 A 35-40   14.01.042.1-35-40 
 1 washer 2 A 35-40   14.01.042.2-35-40 

5 2 centrifugal disc outside    X 
6 4 schnorr lock washer  S12  *) X 
7 4 hexagon socket head cap screw M12x45 DIN 912 *) X 
6 4 schnorr lock washer  S16  *) X 
7 4 hexagon socket head cap screw  M16x55 DIN 912 *) X 
8 2 o-ring A51   *) 
9 2 protective hood    X 
10 8 schnorr lock washer  S8   *) 
11 8 hexagon socket head cap screw M8x14 DIN 912 *) 

12 1 
screw connection M 20x1,5   
with reduction M 25x1,5 / M20x13 

   
14.80.002.67071179 
14.80.002.67071153 

13 1 rubber disc    14.80.070.0001 
14 1 washer of cover of terminal box IEC80-112   *)  
15 1 Cover of terminal box IEC80-112   14.80.061.0000 
16 4 schnorr lock washer S5  *) 
17 4 hexagon socket head cap screw M5x12 DIN912 *) 

 1 bag for electrical circuit points   **) 14.80.000.0004    
 1 component parts fuse members A51 / A52   14.80.000.0014    


